
Cabinet Heavy load leveling feet

Installation Manual

H
C

N
-0

00
02

2-
0-

M
P

_2
-E

N

A001B 



Components

M10 x 40 (T25 / T45) 1000E M5 x 10 (T25)

Tools

T25

2 / 8 HCN-000022-0-MP_2-EN



1.1

N
-0

00
02

2-
0/

00
08

64
-1

M10 x 40 (T25 / T45)

1000E

1.2

N
-0

00
02

2-
0/

00
08

64
-1

M5 x 10 (T25)

T25

3 / 8 HCN-000022-0-MP_2-EN



1.3

N
-0

00
02

2-
0/

00
08

64
-1

M5 x 10 (T25)

T25

4 / 8 HCN-000022-0-MP_2-EN



Notes

5 / 8 HCN-000022-0-MP_2-EN



Notes

6 / 8 HCN-000022-0-MP_2-EN



Notes

7 / 8 HCN-000022-0-MP_2-EN



Minkels Nederland 
Eisenhowerweg 12
Postbus 28
5460 AA Veghel
Nederland
email: info@minkels.com
tel: +31 (0)413 311 100

H
C

N
-0

00
02

2-
0-

M
P

_2
-E

N


